Non-Verbal Intelligence

Non-verbal intelligence involves the ability to
understand and analyse visual information and
solve problems using visual reasoning. e.g.
Identifying relationships, differences and
similarities between shapes, recognising visual
sequence etc.

Let us discuss the various topics.

1. Analogy

In this type, two sets of figures namely problem
figures and answer figures are given.The set of
problem figures consists of two parts. The first part
comprises of two figures, which have some
relationship between them on the basis of a
certain rule.

The second part comprises of one figure and a sign
of “?’. You are asked to select one figure from the set
of answer figures to replace ‘? but maintaining
similar relationship as depicted between the first
two figures.

Example 1 Complete the second pair by
selecting the appropriate alternative.

Problem Figures
NIEIE R

(1) (2) (3) (4)

Answer Figures

415

(a) (b) (c) (d)

Sol. (b) From problem figure (1) to (2), bottom
large design becomes small and upper small design
becomes large. Similar rule will be followed from
the problem figure (3) to answer figure.

2. Clasification

In this type, we deal with questions which have a
set of four figures, out of which all except one are
alike or have some common
nature/characteristics. You will have to select the
exclusively different figure from the given set.

Example 2 From amongst the following four
figures, select the one, which is different
from others.

I_ —e I
(@) (b) © @

Sol. (d) Except figure (d), all other figures have one
rounded side. In figure (d) both sides are rounded.

3. Series

In this type of questions, a series of figures is
given as problem figures. The candidates are
asked to select one of the figures from the set of
answer figures which will continue the given
sequence.

To solve questions on figure series, a candidate must have
a clear vision of the concepts like rotation, angles, steps of
movement, different positions etc., which are discussed
ahead



(i) Rotational Direction

The rotational direction basically states the
clockwise and anti-clockwise directions.

e When a figure rotates in the direction of
hands of a clock, then this movement is
called clockwise movement.

e When a figure rotates in the opposite
direction of hands of a clock, then this
movement is called anti-clockwise

movement.
Y1 1
10
9 °
8
! 6

!
10
9 °
8

! 6

Clockwise Anti-clockwise
movement movement

(if) Angular Movement

In some type of questions the whole figure is
not rotated to obtain another figure but some
elements inside the figure move to obtain the
subsequent figures.

Clockwise movement

Suppose the element at position A moves to
position B, then we can say it moves 45°
clockwise, if it moves to position C, then we can
say it moves 90° clockwise and so on.

A —» B=45°

A— C=90°

A — D=135°
A — E=180°
A — F=225°
A — G=270°
G F E |JA— H=315°
A —> A=360°

Anti-clockwise movement

Suppose the element at position A moves to
position H, then we can say it moves 45°
anti-clockwise. If it moves to position G, then
we can say it moves 90° anti-clokwise and so
on.

A — H=45° A—>G=90°

A —>F=135° A —- E=180°

A — D=225° A — C=270°

A —> B=315° A — A =360°
Directions (Examples 3 and 4) In each of the
following questions, select correct answer figure

which will continue the series as established by
the problem figures.

Example 3 Problem Figures

| [0 A
LRI

(@) (b) (© G

Sol. (b) In each step, a pin is added on the left hand
side of existing pin/pins. The head of the pinisina
direction opposite to adjacent pin.

Example 4 Problem Figures

KX X8| XX | XX | &%

Answer Figures

Y XL XX X| XX

(a) (b) (@) (d)

Sol. (a) One and two parts of the line disappear
alternately and the disappearance of line is
anti-clockwise. Also, one and two lines are added
alternately.




4. Mirror Image

The figure obtained by putting a mirror in front of the real image is known as mirror image or we can
say that the reflection of an object into the mirror is called its mirror image.

Let us consider an example

Top Top

C 1] C ]
LHS | ——\ RHs LHS /\—————] | RHS

Bottom Bottom
Real Image Mirror Mirror Image

Mirror Images of Capital Letters

Real Image A|B|C|D|E|F|[G|H|I|J|K]|L|M
Mirrorlmage |A (8|0 (A |3 |[F|D|H|I|L|[A|Jd[M
Real Image N[O|P|Q|IR|S|T|U|V|W|X|Y|Z
Mirrorlmage (M| O |9 |0 |A|S2|[T|{U|V|IW|X|Y|S

The letters which have the same mirror images are —A, H, , M, O, T, U, V W, X and Y.

Mirror Images of Small Letters

Real Image alblc|d|e|f|9|h|i]|ij|k]|I]|m
Mirrorimage |s|d|o|b|o|t|R@|A|i|[i|[A]||m
Real Image njfo|P|q|t|s|t|ju|v| w]|Xx z
Mirrorimage |n|o|q (P |t |e |t |u|Vv | w]|Xx s

The letters which have the same mirror images are —1i, 1, o, v, w and x.
Mirror Image of Numbers
Reallmage |1 |2 |3 |4|5|6|7|8|]9]|0
Mirror Image L | S| & pd| ]| O

Numbers 0 and 8 have the same mirror images.

Directions (Examples 5 and 6) In each of the following questions, select the alternative which
exactly matches with the mirror image of the word [ number in the question.

Example S TRIUMPHS
(a) SHPMUIRT ~ (b) SPMIURT (c) STRIUMPH (d) 2HIMUIAT
Sol. (d) If we put a mirror in front of the word, we will get the image like
TRIUMPHS E 2HAMUIAT
Example6 2345
(@) zv3s (b) svee () ares (d)sesz
Sol. (¢) If we put a mirror in front of the number, we will get the image like
2345 EareS



Example 7 Choose the correct mirror image from Sol. (d) Mirror image of figure (A) will be like
alternatives (a), (b), (c), and (d) of the figure (A). L» 4_1

LI | L. J
4_1 ._l Object Mirror image

(&) @ ® © (d)

5. Water Image

The reflection of an object into the water is called its water image. It is obtained by inverting an object
vertically, i.e upside down. Let us consider an example

Top
Q Real Image
LHS —>| <—RHS
Bottom

source

LHS —> | <—RHS

Q Water Image

Bottom

Water Image of Capital Letters

Real Image | A B C D E F G H I J K L M
Water Image | V B C D E 3 e H | 1 K r W
Real Image N o P Q R S I U Vv W X Y VA
Water Image | U 0 b o] B 2 | 1L n M X Al S
The letters which have the same water images are — C, D, E, H, I, O and X.
Water Image of Small Letters
Real Image a b C d e f g h i j k I m
Water Image| 9 q 6 t a M ! ] K I w
Real Image n 0 p q r s t u v w X z
Water Image| v o b d L 2 f n A M X s

The letters which have the same water images are ¢, 1, 0 and x.

Water Image of Numbers

Real Image 0 1 2 3 4 5 6 7
Water Image | 0 1 M 3 A\ 2

Numbers 0, 3 and 8 have the same water images.



Directions (Examples 8 and 9) In each of
the following questions, choose the alternative
which shows the correct water image of the
given word or number.

Example 8 FROG

()EHOG (b)) GORF  (c)D0OH4  (d)EHOG
Sol. (#) The water image of given sequence will be
fRog,
EBOC
Example 9 765492
(a)\eevdS  (b) 765492 (c)\eev9s  (d) \eev6s
Sol. (a) The water image of given sequence will be
765492
Aeevas

Example 10 In the following question, choose
the correct water image of the figure (A)
from the given four alternatives (a), (b), (c)

#++§j

(A) @ (b)
Sol. (b)) The water image of the figure (A) will be

object
water

6. Figure Completion

Figure completion is a process to find out the
missing part of an incomplete figure to

complete it.

In this topic, we deal with the questions in which
a part of the figure is missing, (generally 1/4 th
part of the figure) and a candidate is asked to find
the missing part from the given option figures.

Example 1l Select a figure from the four
alternatives, which when placed in the
missing portion of the original figure, as
shown by figure (X), would complete the
pattern.

Problem Figure

N4
.

X)
Answer Figures

MV

(a) (b) (c) (d)

Sol. () Clearly, option (b) completes the original
figure which looks like the figure given below

A\ 74
T
7. Formation of Figures

In this type, two sets of figures are provided
namely problem figure and answer figures. A
candidate is asked to select the answer figure
which includes the components from which the
problem figure is formed.

Example 12 From the answer figures, select the
cut pieces from which the problem figure is
formed/made.

Problem Figure

e

Answer Figures
e e QOO QQ
DO R PY

(@) (b) (© @

Sol. (c) Here, the
problem figure can be
formed by joining the

@
l
4o

pieces given in option (c)
as shown beside



8. Embedded Figures

A figure suppose figure (A) is said to be embedded in
figure (B), if figure (B) contains the figure (A) as one
of its part. Questions based on embedded figures
comprise of a question figure and four answer
figures. It is asked to find the correct answer figure in
which the given question figure is embedded.

Example 13 In the following question, figure (A)
is embedded in any one of the four alternative
figures (a), (b), (c) and (d). Find the alternative
which contains figure (A) as its part.

REzcaas

(A) (@ (b) (© (d)

Sol. (¢) On close observation, we find that the figure
(A) is embedded in figure (c) as shown

N\

9. Counting of Figures

Counting of figures is simply the identification of
different geometrical figures from a complex one.

In these problems, a candidate has to count the
geometrical figures in a given complex figure. For
this, the shapes of all geometrical figures like
triangles, squares, circles etc., must be clear in mind.

Example 14 How many straight lines are there in
the figure given below?

(2) 14 () 8
(c) 4 d) 9
Sol. (%) A_E B
H5 F
D G C

Horizontal lines=AB + HF + DC =3
Vertical lines=AD + EG+BC =3

Slant lines=AC + BD =2
Total lines=3+3+2=8

Example 15 How many circles are there in
the figure given below?

@) 4 (b) 8 © 9 () 10
Sol. (b)

Clearly, total number of circles =8

Example 16 How many squares are there in
the figure given below?

(a) 4 (b) 5 (0 6 a7
Sol. (b)) Naming the figure,

A H B
E °© I

C
B G

Clearly, there are 5 squares in the given figure viz.

OAHOE, CHOFB, OFOGC, DOGDE and
CABCD.

Example 17 How many triangles are there
in the figure given below?

@) 20 (b) 27 (©) 18 ) 29



Sol. (1) Naming the figure, Small triangles formed with two triangles

A B C ABCD, ADEF, AFGH, AHAB =4
' g Large triangles formed with two triangles and one
H D square are
< MN L AACM, ACEM, AEGM, AGAM = 4

Largest triangles AACE, AAGE, AGAC, AGEC = 4
- Total triangles =8 + 4 + 4 + 4 =20

G E E

Smallest triangles are AABI, ABCJ, ACD]J, ADEK,
AEFK, AFGL, AGHL, AHAI =8

© Practice Exercise

Directions (Q. Nos. 1-5) In the following questions, choose the figure which will replace the
question mark (?).

1. Problem Figures Answer Figures

A i NI R RS

(1) (2) (3) (4) (a) (b) (c) (d)
Answer Figures

4. Problem Figures

VAN TR

(a) (b) (c) (d)

(1) (2) (3) (4)
Answer Figures

olloiel+] VMWV

(1) (2) (3) (4) (a) (b) (c) (d)
Answer Figures

2. Problem Figures

S Problem Figures

o|ojo|a| [7}LH9}[

(a) (b) (c) (d) (1) (2) 3) (4)

3. Problem Figures Answer Figures
< THX ] |e]ol6]e
(1) (2) (3) (4)

(a) (b) (c) (d)



Directions (Q. Nos. 6-10) In the following
questions, select the figure, which is different
from others.

SO0

(a) (b) () (d)

Oo+0+0(0 +40(x0 +
+ +0|+ x +|+0+|+00O
OO0 x|0+0|0 xO0|0 +0

(b) () (d)

(a)

S0
(a) (b) () (d)
(a)

8. )

A

(b) (c) (d)

10.

Fd | B

(a) (b) (c) (d)

Directions (Q. Nos. 11-15) In each of the
questions given below which one from the
four answer figures should come at the right
of the problem figures to complete the series
logically.

11. Problem Figures

(a) (b) (c) (d)
12. Problem Figures

K |g

Answer Figures

T

(a) (b) (c) (d)
13. Problem Figures
[ ) [ ) [ ) o o o o
o o [ ) [ ) o o
oOvVvo eve
oAO o oAO (o] oAO

o oV o [e] o
o o [ ] [ ]
ovo o o A
[ ] ® ® ® oAO
(a) (b) (c) (d)
14. Problem Figures
® X ® X X|®e X X|® X X
e o oo ® X ® X X
e o o0 o o0 [ ]
® O o6 o o0 o o0
Answer Figures
® X X X Xle X X|® X X

e X X|le x X[® x Xx[x x x

® X [ ]
(a) (b) (c) (d)
1S. Problem Figures
o A o A o
L r B _ L
A o) A o A
Answer Figures
A N A o)
_ r B r
o) o) 0 A
(a) (b) (c) (d)

Directions (Q. Nos. 16-20) In each of the
following questions, you are given a
combination of alphabets and /or numbers
followed by four alternatives (a), (b), (c) and
(d). Choose the alternative which most closely
resembles the mirror image of the given
combination.

16. FANTASY
(a) YeATWAd (b) FNTASAY
(c) YSATNAF (d) YEANTSAY



17.

18.

19.

20.

2l

22.

23.

24.

RADIANT

(a) TNAIDAR (b) TMAIQAA

(c) TRADIAN (d) TITANRAD
disturb

(a) dlefruP  (b) chwuteib  (c) disturd (d) dwisib
RUNG69test

(a) 129100 U ST
(c) STUMSRIST

ANS43Q12
(a) ANSBEDIS
(c) 2NAEPDSI

(b) 1291€3MNU S
(d) dNNoRIs2)

(b) SIQERVA
(d) [SOMEAVS

Which of the answer figures is exactly the
mirror image of the problem figure when the
mirror is held at XY?

Problem Figure = Answer Figures

= X = < = <
N AEIAEI
Y (a) (b) (c) (d)

Which of the answer figures is exactly the
mirror image of the given figure, when the
mirror is held on the line MN?

Problem Figure = Answer Figures

ﬁ?é%"‘

(a) (b) (c) (d)

Which of the answer figures is exactly the
mirror image of the given figure, when the
mirror is held on the line MN ?

Problem Figure Answer Figures

M
g% 7 B | €7 B
N

(a) (c) (d)

If a mirror is placed on the line XY, then
which of the answer figures is the right
image of the given figure?

l)’(roblem Figure Answer Figures

EBREEE

(a) (b) (c) (d)

(b)

25.

If a mirror is placed on the line AB, then
which of the answer figures is the right
image of the given figure?

Problem Figure Answer Figures

sl [si[s][el[s

(a) (b) (c) (d)

Directions (Q. Nos. 26-30) In each of the
following questions, choose the alternative
which is the correct water image of the given
word | group of letters or numbers or both.

26.

27.

28.

29.

30.

WOMAN

(a) WOMAN (b) MOWVU

(c) MOWAN (d) MOWVN

rise

(a) Uee (b) esir (c) nee (c) esh
3713

(a) 3\3  (b)3M3  (c) 3473 (d) 343
D6Z7F4

(a) DeZ\Ft (b) DECSAkY

(c) DesAkY (d) D6SEY7
ab45CD67

(a) ap¥RCD6A (b) sp¥2CDeA

(c) sp¥2CDAA (d) sp¥RCDOA

Directions (Q. Nos. 31-35) In each of the
following questions, choose the correct water
image of the figure (A) out of the given four

alternatives.
31. ol A A |o A‘l A |o A.l
v, AR AN
(A) (a) (b) (c) (d)
32. A nbj A v o
1| R o] o3| [a73
(A) (a) (b) (c) (d)
33, O @0 - O [F o]
e 0 [ [ [
(a (d)

) (b) (c)
) (b) (c)

(a



35. o o o v v
> | b | b | P <

A A v o o
(A) (a) (b) (c) (d)

Directions (Q. Nos. 36-40) In each of the
following problems, select a figure from the
given four alternatives, which when placed in
the blank space of problem figure would
complete the pattern.

36. Problem Figure

> | X

DD
N 9

AN

Answer Figures

© |16 |6 |le
A A Al S

(a) (b) (c) (d)

37. Problem Figure

Answer Figures

N| N7

(@ (b () (d)

38. Problem Figure

?

Answer Figures

(a) (b) (c) (d)

39. Problem Figure

Answer Figures

(a) (b) (c) (d)

40. Problem Figure

?

Answer Figures

(a) (b) (c) (d)

Directions (Q. Nos. 41-43) From the
answer figures, select the cut pieces from
which the problem figure is formed /made.

Problem Figure Answer Figures

41

N ==
;[>< E EL o CU\
@  ®  © (@
42. I — a— — ——
1971 .:g . =lo="=
| @ ® @@
a3 — N
N R
@  ®  (© @



Directions (Q. Nos. 44-48) In the following
problems, choose the alternative figure in
which the problem figure is embedded.

Problem Figure Answer Figure

44. |
l

45.
A
BRIk O
(a) (b) (c) (d)
A Idalba| AR
(a) (b) (c) (d)
"TAlALALA A
(a) (b) (c) (d)
48. (]

(@) (®) © (d)

49. How many straight lines are there in the
following figure?

(a) 5 (b) 10
(c) 9 (d) 8

50. How many circles are there in the figure
given below?

(a) 6 (b) 7
(c) 10 (d) 8

Sl

Se.

S3.

54.

SS.

How many squares are there in the following
figure?

(a) 5 (b) 9
(c) 7 (d) 8

How many rectangles are there in the figure
given below?

(a) 7 (b) 8 (c) 9 (d) 12

Count the number of triangles in the
following figure.

(a) 6 (b) 7

(c) 8 (d) 9

How many triangles are there in the figure
given below?

(a) 8 (b) 10

(c) 12 (d) 11

How many triangles are there in the figure
given below?

®
-

W~
-



Answers

(d) 2 | (b) 3 1@ 4 | (@ 5 1@ 6 |(d 7 | (b 8 | (d 9 | (b 10 | (@)
(d) 12 | (@ 13 | (a) 14 | (0 15 [ (b) | 16 | (@) 17 | (b) 18 | (b) 19 | (b) 20 | (b)
(a) 22 | (b) 23 | (a) 24 | (@ | 25 | (@ 26 | (b) 27 | (a) 28 | (b) 29 | (9 30 | (b)
(@) 32 | (a) 33 | (9 34 | (d) 35 | (9 36 | (0 37 | (© 38 | (d) 39 | (9 40 | (@)
(©) 42 | (a) 43 | (b) 44 | (a) 45 | (b) 46 | (d) 47 | (o) 48 | (a) 49 | (b) 50 | (@)
(b) 52 | (0 53 | (0 54 | (b) 55 | (b)
Hints & Solutions
. Second figure of each pair is laterally 13. Design in figure first, third and fifth is similar
inverted image of first figure. and the shaded portion moves from top to

. In first pair, first figure becomes double to bottom. Similarly, design in second, fourth and
obtain the second figure. Similar rule follows option (a) is similar and shaded portion is moving
in second pair. from top to bottom.

14. The two dots are lost and one cross appears in each

. From problem figure (1) to (2) arc lines goes ‘ ) ’ ’ .
subsequent figure. So, in continuation with the

to opposite direction and middle small line

becomes large. Similar rule follows from the given series of figures, the next figure would be (c).
problem figure (3) to answer figure (d). 15S. Central element is rotating 90° clockwise and

. Circle is connected to all corners of square to corner elements are interchanging their positions.
obtain figure (2). Similarly, circle is 16. Option (a) is the correct mirror image.
connecFed to all corners of triangle internally 17. Option (b) is the correct mirror image.
to obtain answer figure (a). 18. Option (b) is the correct mirror image.

. The figure rotates through 180° 19

. Option (b) is the correct mirror image.
anti-clockwise. P (b) &

. . . 20. Option (b) is the correct mirror image.
. Except figure (d) in all others, the inner

black circle is placed in front of open part.
. Figure (b) has 4 plus signs and others have 3.
. Except (d), in all other figures, the number

2l. Answer figure (a) is the correct mirror image.
22. The correct mirror image is given in option (b).
23. The correct mirror image is given in option (a).

of line segments on the boundary of the 24. Option (a) is the correct mirror image of problem
figure is two less than the number of sides of figure
the figure.

25. The correct mirror image is given in

. Except option (b), all other figures have two option figure (a).

overlapping triangles.
Pping 8 26. Option (b) represents the correct water image.

27. Option (a
28. Option (b

. Except option (a), all other figures have two

.. . represents the correct water image.
elements inside and two elements outside. P 8

. ) represents the correct water image.
. In each successive problem figure, black dot P g

)

)
moves three steps clockwise and white circle 29. Option (c) represents the correct water image.
moves two steps clockwise. 30. Option (b) represents the correct water image.
. The main figure rotates 90°, 45°, 90°, 45° and 31. Option (c) represents the correct water image.
90° anti-clockwise in each step. 32. Option (a) represents the correct water image.

The shaded square become circle and circle 33. Option (c) represents the correct water image.
repeat twice and then again square comes

after circle.

The shaded portion in the main figure shifts
on both sides of line attached to square and 36. The missing figure which will complete the figure
circle. pattern is given by option (c).

34. Option (d) represents the correct water image.
35. Option (c) represents the correct water image.



37.

38.

39.

40.

4l

42,

43.

44,

45.

46.

47.

48.

49.

50.

The missing figure which will complete the
figure pattern is given by option (c).

The missing figure which will complete the
figure pattern is given by option (d).

The missing figure which will complete the
figure pattern is given by option (c).

The missing figure which will complete the
figure pattern is given by option (a).

Here, the problem figure can be formed by
joining the pieces given in option (c).

Here, the problem figure can be formed by
joining the pieces given in option (a).

Here, the problem figure can be formed by joining
the pieces given in option (b).

On close observation, we find that
the problem figure is embedded in
figure (a) as shown adjacent

On close observation, we find that
the problem figure is embedded in
figure (b) as shown adjacent

On close observation, we find that -~
the problem figure is embedded in '
figure (d) as shown adjacent

On close observation, we find that the
problem figure is embedded in figure
(c) as shown adjacent

On close observation, we find that the
problem figure is embedded in figure

(a) as shown adjacent

A E C
L D
K X E
J F
| L G

Horizontal lines = AC, LD, KE, JE IG = 5
Vertical lines = Al, BH, CG = 3
Slant lines = AG, IC = 2

. Total number of straight lines=5+ 3+ 2=10

Ee

Clearly shown that, total number of circles = 6

SL

52.

54.

55.

. Smallest triangles

The squares are A G B

OABCD, [JAGSE, U
OGBFS, JIUSN,

OUHMS, OOTSR,
OTPVS, OIHKJ and N[R| S [V M
OOPLQ. Q L

.. Total number of
squares =9 D Cc

Smallest and single rectangles
=[_JABFE[1EFIH, _IBCGE 1FGJI = 4
Rectangles formed with two rectangles
=[] ABIH,JAEGC,[JEGJH,IBCJI = 4
Largest rectangle = [_JACJH = 1

Total number of rectangles=4+4+1=9

=AGAH, AHFL, ALCI, AIDJ,
AJBK, AKEG =6
Largest triangles = AABC,
AEFD =2
. Total triangles

=6+2=8

Smallest triangles

= ABOC, ACOD, AFOG,

AGOH, AHOA, AAOB =6

Triangles formed with two H 0 B

small triangles

= AAOG and AAOC =2 G E
Largest triangles

= AACG and AEGC =2

~. Total triangles = A B c

6+2+2=10

Smallest triangles = A

ABH, A BHI, A BID, H D
A BDC, ADIE ADEE A
FGH, AHIF = 8

Triangles formed with G E
two triangles

= A FHB, AFBD, ABDH, ADFH = 4
Total number of triangles=8 + 4 =12




- ) Try Yourself

Directions (Q. Nos. 1and 2) In the following
questions, choose the figure which will replace
the question mark (?).

1) Problem Figures

/). W .. U . )
(1) (2) (3) (4)
Answer Figures

S - 2 S
S - O S
(a) (b) (c) (d)

2) Problem Figures

(1) (2) (3) (4)

Answer Figures

(a) (b) () (d)

Directions (Q. Nos. 3 and 4) In the following
questions, select the figure which is different

from others.
3)
AA A

(a) (b) (c) (d)
9 |= =l U ( s s
— ~ |

(a) (b) (c) (d)

Directions (Q. Nos. 5 and 6) In each of the
questions given below which one from the four
answer figures should come at the right of the
problem figures to complete the series logically.

N

5) Problem Figures
[+ [ [} [ [}

O O 0 O
o [ [, [ [,
O O 0 O

o

Answer Figures

o [ O | O
0 O | O 0
[ [ 0

(a) (b) (c) (d)

6) Problem Figures
o ala o|lo S

S o|o S|la o©

Answer Figures
S o|s AlD S|{o A

o alo ogla o|o s
(a) (b) () (d)

Directions (Q. Nos. 7 and 8) In each of the
following questions, choose the alternative
which most closely resembles the mirror image
of the given combination/figure.

7) TRY941
(a) rheydAT (b) LRYC41
(c) TAYe41 (d) 149RTY
& mIEM[m T[T
O . 0O [ |1 { ] O
(a) (b) (c) (d)

Directions (Q. Nos. 9 and 10) In each of the
following questions, choose the alternative
which is the correct water image of the given
combination/figure.

9) TOMP236

(a) LONBS3e (b) TOW92e6

(c) 632PMOT (d) MOL1P632

10)

o] [ [ ) [

(A) (a) (b) (c) (d)

/




( Directions (Q. Nos. 11 and 12) In each of the
following problems, select a figure from the
given four alternatives, which when placed in the
blank space of problem figure would complete
the pattern.

11) Problem Figure

?

Answer Figures

N

@) (b) © C)
12) Problem Figure

N 2

Answer Figures

@ (o) © (d)

13) From the answer figures, select the cut pieces
from which the question figure is formed/made.

Prob. Fig.

Ans. Fig.

A R |e ./\L
A\

<> <\<.<\
9 S PP

(@) (0) © (d)

Directions (Q. Nos. 14 and 15) In each of the
following problems, choose the alternative in

which the problem figure is embedded.

14)
$ _m_
Q] (a) (o) (© @
15)
™) (@) (b) ©) (@
16) How many squares are there in the following
figure?
(@) 3 (b) 2
(c) 4 (@7

17) Find out the number of triangles in this figure.

(a) 18
(c) 14

Answers

1 (a) 2 (b
6 (a) 7 (a)
1 (b 12 (a)
16 (d) 17 (a)

(b) 12
(d) 16

3 (a) 4 (b)
8 (0 9 (a)
13 (d) 14 (d)

5 (a)
10 (9
15 (d)




